138(Sc)/1 UG-I/Env.Std.(G)/20
2020
ENVIRONMENTAL STUDIES
(COMPULSORY)
[For General Students]

Full Marks : 75

Time : 3 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any fifteen from the following:

Ix15=15
@Il 2felft e Tew mie s
1.1 Ecosystem is the smallest unit of
ETY TG —————— T IOy IF3 |
a) Ionosphere
b) Lithosphere
T
c) Biosphere
d) Mesosphere
G

[Turn over]

1.2

1.3
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Which of the following is not an air pollutant?

kRS @b IS T3
a) Smoke
cdran
b) Carbon-di-oxide
RERCRYERE e

c) Nitrogen gas
TG
d) SO,
Conservation of natural resources can be done
through

APl ™o FF=H T @CS A ———
RIEIN

a)  Human population control
ey e

b)  Reducing pollution
T P

c) Increasing use of natural resources

d) Both(a)and (b)
(a) @R (b) TexR
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1.4 Carrier of Dengue disease is 1.6 Which state of India is known as 'Tiger State'?

(THF AT (T2 SIS (FI Q0 BIRSI 2l I TS 2
a) Aedes Mosquito a)  Gujarat
Gfes 5= SR
b)  Culex Mosquito b)  West Bengal
T T IRk
¢) Housefly ¢) MadhyaPradesh
Ty T
d)  Anopheles Mosquito d)  Assam
SyTCRR T Sl -

1.5 The three R's to save the environment are S
1.7 Biodiversity is

AR TR Jame fodt =g’ (R's) z& & (o 2=
| a) the total number of species
a) Reserve, Reduce, Recycle NG eifog 2
TRTH, T, AT b) all forms of life
b) Reuse, Reserve, Reduce e P GIIF AL
AR, AT, g ¢)  both (a)and (b)
c¢) Reserve, Reuse, Reduce (2) 9% (b) ToTB
TR, LTI, ZPT d) None of these
d) Reduce, Recycle, Reuse R T
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1.8

1.9
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Ozone layer is found in

RICDEASEIRI

a)  Thermosphere
O1ANSTET

b)  Stratosphere
RICRNRIGH

c) Troposphere
RN

d) Mesosphere
RIS

Application of fertilizers in agriculture results

in

IR AR IRRE AR =
a)  no cost production
AW & (12
b) low cost production
3 TeA Y&
c) high cost production
T SAM &0
d) None of these
(I 7
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1.10 Paper is mainly made up of

1.11
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Flore (o 27 G (A

a) Cellulose & starch
(eI 8 7516

b)  Polythene & cotton
“AfeTfee ¢ 3o

c) Bamboo & grass
@ T

d) None of these
(PR 7

Most hazardous metal pollutant of automobile
industry is

FTAANTT PR AR Rvrega dre el
Lol

a) Mercury
M
b) Cadmium
SRR
c) Lead
A
d) Copper
il
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1.12 What type of radiation is trapped on the earth's 1.14 Among the following which country has lowest

surface by the green house effect? per capita green house gas emission?
@ e 97w 9T #te Ao FeA G frgferie @ @ers Sa=re s e
Crelf ¢ ACHCR FH 2
a) UVrays a) France

UV 5 F1=
b) Xrays b) India

X 7 RN
¢) IRrays c) China

IR i i
d) None of these 4 Mexico

e
(PR 7 1.15 In which continent, annual ozone hole is
1.13 Fishis an important source of . located?

g G ———— @7 wFgs)e Teo | R TR A ST o S ¢
a)  Propionic acid a)  Antarctica

caiferefas opifre CIRREaTEo
b) Omega 3 fatty acid b)  South America

el 2 it e el SR
¢) Lacticacid c) North America

TR SR Teq Il
d) Ascorbicacid d)  Africa

PR Sife S
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1.16

1.17
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In West Bengal average rainfall is
S5 i RS IfRstice sifsne ==
a) 1900 mm

spoo fify
b) 1750 mm

saco N
¢) 1500 mm

seoo ffs
d) None of these

(PR 7
Energy ~ inan ecosystem.
@ IEOCE *[& —————— |
a) isreleased

¥ &
b) isabsorbed

GIISICE
c) flows

zafee =1
d) None of these

PG 7
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1.18 90% of World's food is comes from
SIS AR 90% AT @ FRAF Tien (AF

RES
a) 25plants
e
b) 20 plants
20
c) 15plants
N
d) None of these
(PR 7
1.19 What is the reason of eutrophication?
BTGRP Plael 2
a)  Phosphorus
FAFI
b)  Nitrate nitrogen
IRED ARG
c) Fertilizer
A
d) All of these
e
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1.20 Gir Lion conservation project was situated at

for F1eg w1k 2wl (IR A0Sy ORIZS 2

a)  Gujarat
KR

b) Madhyapradesh
AT

c) WestBengal
LR RS

d) Bihar
ISR

2.  Fillin the blanks of any five questions: 2x5=10

-l AofB e = Zw =76 = ¢

2.1 Acceptable limit of arsenic in drinking water
is as defined by WHO and
Itai Itai disease 1is caused by

poisoning.

WHO fiifere ertet sraaiely S At
251 @R O W2 Q9
X RO |
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2.2

2.3

2.4

2.5
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Height of tropopause at poles

km and at equator km.
(TFCS GUAITETE Tobel ISt
O} @ @Im =

In an ecosystem, the solar energy is harvested
by the autotrophic organisms which are called

as and the solar energy

capturing process is known as

@3 IFeE @ FOG! G [l FIRe
MRS T OIS @1 =,
ciisife 7eo2re e
Sl

of total plant species in

India are flowering plants numbering
species.

RIS ™G Cfen aefes
TN T derifod 72T 26 |

Tertiary consumer in a food chain that

commonly eats and

in a food chain that no other consumer eats.

PUHYET 9O WEI VS

GIBIEGIS AT G A
BRI & R A L
o
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2.6

2.7

2.8
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Bokaro thermal power station is situated at
and Amarkantak thermal

power plant situated at

@RI AR e R .
TRES GR INIFDF ANE AT GFoR
SRS |

In atmosphere, the percentage of nitrogen is

and percentage of carbon

dioxide is
AN TREGIEE eFal Afwe ==

U RGO EAC ) BYACK|
el AR T |

Unit of electricity is and heat

energy is

Rure *f& 467 9 251 @3 Olof
&g 9FF T |
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Answer any five of the following questions (each

within 1000 words). 10x5=50
Q- 25T drds Tex wie (2fof ooo g

3.1

3.2

3.3

3.4
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) 8

Write ten important lessons that you have

learnt from environmental education.

it wweslel Mm@ T of wftc R
(AT MrFEe FER|

[1lustrate natural resource and associated

problems.

AFRoS T G ORI TS SE
4|

Define ecosystem. Classify ecosystem

components with examples.

JIWOLIT FALR Ve | THIZIY HZ IWOET
TAMeRTE @M 791

Describe the relation between climate change
and global warming.

RZETT AFTSd ¥ ™ TSHRET W
TAF Il K|
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3.5

3.6

3.7

3.8
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Write short notes on any two :

@I 57 Tl Tipl (774 ¢

a)  Ecological succession
AT Teae

b) Food web
QA et

c) Energy flow in ecosystem
Agery «fe e[z

d)  Ground water pollution
YOS ST e

Write different processes of water

conservation.
TP REd [Jfen dwfowfe @9 |

What is biodiversity? Mention the role of an

individual in the conservation of biodiversity.

(SR 52 (Thaba AT AT Jfeq
G B 9|

Write short notes on :

ARl DIl (312 8

a) Noise pollution
7

b)  Airpollution
g
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